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1. (10 pts.) Write [ [, f(z,y)dA as an iterated integ
domain bounded by the lines z +3y =7,z —y = =1
domain will help here. Jo 3)’ vyl 4
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2. (10 pts.) Make an appropriate change of variables and
/ / cos(2z + y)dA
D

when D is the parallelogram bounded by 2z —y = T, 23‘*"%
2x+y=0. 0§ 2wy T
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3. (10 pts.) Find the centroid of the spherical half shell defined by
1 and 2 > 0, where 0 < ¢ < 1. [In high school you learned the
shell is (27/3)(1 — c3), and you can assume that here.] i
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4. (10 pts.) Use polar coordinates to evaluate f,;/- (/2 o

the domain will help here. '
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5. (10 pts.) Let W be the region in the first octant (z > 0, y > 0, z
by the plane through (5,0,0), (0,3,0) and (0,0,2). That plane has
m/5+y/3+z/2 = 1. Wntefffwg(m,y,z)dVasa.mteratedm-l |
forms [, (J7 ([ 9(@,y,2)dz)dy)do and [7(f2(J ola 1, 2)de)dy)dz

choices of a, b, ¢, d, e and f, of course.
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